/ HsVRe

2151779 A2-06.2019

Piom t
ﬁ ix
J Smin
Nimin Crin
d

M8 x 75
M10x 90
%3)04 © v ||mioxioo

Mi2x 100

M12x 120
M12x 150

HSV R2

2| hnom1 hnoma

hoomimm] 40 50 51 61 62 77 81 96| | M16x140

hmin[mm] 100 100 100 120 140 140 130 170 n

Sminlmm] 60 60 70 70 80 80 120 100 LI
Crin[mm] 60 60 70 70 90 90 120 100

dlmml,min 9 12 14 18 4 o
hyfmml,min 45 55 60 70 70 85 90 105

do mm] 8 10 12 16

SW [mm) 13 17 19 24

Tistlnm] 15 £ 50 100

Printed: 18.07.2019 | Doc-Nr: PUB / 5504150/ 000/ 00



